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BACHELOR OF SCIENCE (B.Sc.)
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December, 2014

LIFE SCIENCE
LSE-13 : PLANT DIVERSITY-II

Time : 3 hours Maximum Marks: 75

Note: Question no. 1 is compulsory. Attempt any five
questions from question nos. 2 to 8.

1. (a) Fillin the blanks: 5x1=5

(i) Tracheid-like cells present in leaves
of some gymnosperms are called

(ii) is an example of lateral
meristem.

(iii) Spirocyclic flowers are found in
family.

(iv) Edible part of coconut is

(v) Two important anticancer alkaloids,
. vincristine and vinblastin, are obtained
from
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(b) Mention whether the following statements
are true or false : 5x1=5

(i) Tapetum is present only in anthers of
angiosperms.

(ii) Sieve tubes are absent in Gnetum stem.
(iii) Banana is a ‘true fruit’.
(iv) Brassicaceae have monocarpellary
gynoecium with superior ovary.
(v) Turmeric is obtained from dried inner
bark of turmeric plant.
(¢) Comment in one or two sentences only : 5xI1=5

(i) Trees with manoxylic stems do not
grow to great heights.

(ii) Lateral roots have endogenous origin.

(iii) Pulses are considered to be poor man’s
meat.

(iv) Edible portion of mango is a part of
fruit wall.

(v) Rice grain is a fruit.

2. Draw well-labelled outline diagram of any three
of the following : 3x4=12

(i) T.S. of Cycas leaflet
(ii) T.S. of monocot root
(iii) T.S. of coriander fruit
(iv) L.S. of wheat grain

(v) Part of leaf epidermal peel with anomocytic
stomatal complex and  multicellular,
non-glandular trichomes
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3. Write short notes on any three of the
following : ’ 3x4=12
(i) Pollination and fertilization in Pinus

(ii) Quiescent centre
(iii) Flower-pollinator coevolution
(iv) Verticillaster inflorescence

(v) Phloem tissue of angiosperms

4. Differentiate between any three of the
following : 3Ix4=12

(i) Mature ovule of Cycas and of Ephedra
(ii) Tracheid and Vessel
(iii) Apiaceae and Apocynaceae

(iv) Alkaloids of Rauwolfia serpentina and
Papaver somniferum

(v) Spices obtained from Cinnamon and Saffron

5. Answer the following questions : 3x4=12

(i) Describe the structure of wood of Pinus.
Mention one identifying feature that will
distinguish wood of Pinus from that of an
angiosperm.

(ii) Some plants depend on modes of nutrition
other than autotrophic mode. Explain with
examples, any two such non-autotrophic
modes of nutrition found in plants.

(iii) Poaceae is a taxonomically distinct family.
Comment.
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6. (i) Describe any six diagnostic features of
family Musaceae or Liliaceae.

(ii) Mention any six field recognition characters
of the family Asclepiadaceae or Malvaceae.

7. Describe briefly the various steps in processing
of tea leaves to obtain black and green tea.

8. Describe the economic importance of mustard,
cashew nut and sugarcane.
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A 5x1=5
() fen Faa USEemd F WY H
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(iii) N Th T B (true fruit) B |

Gv) ReFdt F@ § wEEd SEW QW
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(v) Todl % NY i FTEA DA Bl g@T R
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Had Tk 41 & g 8 feogeft hifse . 5x1=5
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6. (i) e fafoeeh $a1 & foredl B8 (six)

FrerTeres @eron w1 avH K | 6

(i) VwmeachfuueHd an areed F & gl B8 (six)
Fiee ANEE @i +1 3g@ HINT | 6

7. Frel 3R g0 9 g s & e 9 i g
gy & Tl =l 1 98y 9 9 Hifia | 12

8. W, W9 N T F ffF HE F A Hifw | 12
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